Configurations

NGLE EN «U»
Ader (1) 35m? 633 x5.62 16 14 6 30 30 18 28
Blériot (2) 56 m? 752%754 20 18 20 45 40 24 30
Marvingt (1+2) 92 m’ - 46 43 40 80 70 36 75
Lindbergh 50 m* 9.45 %534 24 22 20 36 40 18 45
Clavel 50 m? 9% 55 24 22 20 36 40 18 45
Védrines (A) 40 m* 576 %56 16 15 12 30 20 12 35
Gourp (B) 40 m? 63x56 16 15 12 30 20 12 35
Saint-Exupéry (C) 40 m* 625x%56 16 15 12 30 20 12 35
Doret (A+B) 80 m* - 28 25 24 60 40 18 60
Boucher (B+C) 80 m* - 28 25 24 60 40 18 60
Farman (A+B+C) 120 m? - 48 45 55 120 &0 36 00
Bajac (a) 40 m? 627 x 5.6 16 15 12 30 20 12 35
Bastie (b) 40 m? 63x56 16 15 12 30 20 12 35
Wrigth (c) 40 m? 63x56 16 15 12 30 20 12 35
Mermoz (a+b) 80 m? - 28 25 24 60 40 18 60
Guynemer (b+c) 80 m? - 28 25 24 &0 40 18 60
Lenair (a+b+c) 120 m? - 48 45 55 120 &0 36 00




